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PART-A (5 -9

Q. No. 1 (a~-f) carries 1 mark each : Ix6= 6
Q. No. 2 - 7 carries 2 marks each 2x6 =12
Q. No. 8 =12 carries 4 marks each 4x5 = 20
Q. No. 13 & 14 carries 6 marks each 6%x2 =12

‘ " Total = 50
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Q. No. 15 (a - f) carries 1 mark each 1x6= 6
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Q. No. 22 =26 carries 4 marks each 4x5 = 20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

Total = 50
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PART-A /-5 (¢) In a centrally planned economy, which of the following takes all
A g 4 . - - 2 ?
(1) What does a Production Possibility Curve indicate ? 1 ceohemic deck Rt ;

Teoiive ASRY @A [ a2 (i) Central Bank

(b) If an increase in the price of good X increases the demand for good (i) Market

Y, then how the two goods are related ? 1 ,
| (iii) Government
M X wE@d AN Jf@ Y 'R biRw Jfa F, R T 9 Sef -
HoiFw 2 (iv) Both Government and Central Bank
(©) Total Variable Cost (TVC) will be , when total product is @ FHFeE ARThe wdFifere wdnfes Fassl Roee &=
Zero. (Fill in the blank) oD azel 2
1
' R - () EE UTE
5 Besima =7 20, b AR m R .
| | (0= 27 957) (i) TS
(d) A firm earns normal profit when — ; 1 (i) TR
(i AR>AC _ | (iv) (T TF IR TP ToEe |
(i) AR=AC
(iii) AR < AC (/) What are the shapes of AR and MR curve for a firm under non-
(iv) MR =MC (Choose the correct answer) competitive market structure ? 1
@ AfSPR FeIRe e B T4 — SfSTRIfeR ASIER Swsfe dfedicR w6 e ST =R T ST @I=
| TIGfe FT T 2
() AR>AC
(i) AR=AC
2.  Mention two reasons that give rise to economic problems. 2
(iii) AR <AC |
(iv) MR =MC (% Gl @z A18) wiftAfes e $eEE 70 R S FE1 |
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What is a budget line ? Why does it slope downward ? 1=
JICEB @A T2 @2 @A i HEANT F 57 2

If a unit tax is imposed, how does it impact the short-run supply curve of

a firm ? Show with the help of diagram. 2

ﬂﬁﬂwaﬂ@mﬁ—m—mﬂﬁmmﬁa QA T eI
mt%a—rﬁ—wv%raﬂmm A8 |

What is ‘break-even point’ of a firm ? At which point of the AC curve, a

firm under perfect competition breaks-even ? =2

G5 ARG e oo [ F 2 o4of eferaifon <= s 1% T @
I fRgre sTrel-en I9E el 2 e

What does price elasticity of supply mean ? Briefly explain. 2

@IS i Efegeel 2 ACw [t i |

What is a monopolistic competitive market ? 2

G fSriPeRER A CFwhaE afewbren A T e

Discuss four features of indifference curve. _ 4

e @2E b @AM Scebsl e |

30T ECON (BENG) [4]

9. Define and draw average cost and average variable cost curve. Why these

two curves can’t touch each other ? : 3+1=4

NG G % MY ARKEFTI GO 8 (=ica <R 92 @2 1o o et | @2
@ G AT=EE (B T 0o A G2

OR / 52t

The Total Cost (TC) schedule of a production unit is given below. Find out

TEC, TVC, AC and MC.

.

G BeAMA G IS T (TC) SHPIHT Ich (e Biez| (b 72 7 (TFC),

Al

Quantity Produced
Terwe wAtasie

0

30T ECON (BENG)

IS ARSI T (TVC), 5% T (AC) Gk @i T8 (MC) P! Wame

TC
5 TH
10
40
60
80
95
110
130

160

[5] Contd.



10.

1l

Mention four differences between perfect competition and monopoly.

sf¢f efSraifFoe e IeR W) IR ASE 5F6 AL @Ol

The demand and supply functions of a commodity is given by
Q;=100 - 2P i

Q,=2P-60
Find :

(i) Equilibrium price -
(i) Equilibrium quantity.- . 3414
Ne =T TEE @ @3 Gifzvl S oredl IR

Q,;=100 - 2P

Q,=2P - 60
Hefa <@t s
() SIERT A

(i) SRSy SeAmeT AR |
OR / G231

Explain with the help of a diagram, how shifting of the supply curve of a

commodity affects its equilibrium price and output. 4

G wEE @ @4E ZAEE wba SRRy Wi G3R CAMEE AR
FeiE oo @ braa A [ & |

30T ECON (BENG) [6]

12. What do you understand by returns to a scale ? Write the méan_ing of

1153,

constant, increasing and decreasing returns to scale. 1+3=4
A &SI TS F (@RI 2 AR, FAREA Q98 FHRP A<l Afemicn L
CETCRA | '

OR / 5451

State the reasons behind the working of the law of diminishing marginal

product. 4

' ERERID| “iifes Besiiv R TResR @i

State and explain the law of demand with the help of an imaginary

schedule and diagram. | 6
oifem RS @t gk 9ol FEfe piftn Seppt ¢ 8RE buaw iR ¢
IR AT |

OR / @12

Calculate price elasticity of demand by expenditure method :

(i)  If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity

demanded from 25 units to 20 units.

(i) If an increase in price per unit from Rs. 8 to Rs. 10 lowers quantity

demanded from 20 to 16 units.

(iii) If a decrease in price from Rs. 12 to Rs. 8 per unit increases quantity

demanded from 20 to 28 units. 2+2+2=6

30T ECON (BENG) [7] . Contd.



14.

- T Aafen e viftE FHfoiseel Rl i ¢

() =S 5 TR Wi 10 5l (ACF 12 GBIl +I¥ Jfa z0a bifzmia i
25 T (ATE 20 GFF ALT 27 AT |

(i) ofS 9 TR WA 8 il (ATF 10 Bl #1(S e 20eT bifzwia sAfane
20 ¢ (AT 16 G 2 AR |

(iii) 2 G TR Wi 12 B (A 8 Biwi 219 (oItE bifent 20 (0 28 T

I A7 |

Define :
(i) Total Product (TP)

(i) Average Product (AP)

. (iii) Marginal Product (MP)

Explain the relation between AP and MP with the help of suitable

diagram 1+1+1+3=6

Rl (el 6

() 5 TeAW
(i) T TAW
(iii) NfEF BN |

51T Gesfa G2 s SAMGT F™1F CoiYe Hhoam AR I ¢ |

30T ECON (BENG) [8]

OR / 5124

(1) What is production function ? 1

TN ST FICD Q0 2

(i) What do you mean by fixed factor and variable factor of production ?

Give examples. - 2

SeoAG 21 Bl 9= ~RAGTHE Tt oS ST @R Sz

CeTCAl |

(iit) The production function of a firm is given by Q = 2I.2K2.

Find out the maximum possible output that the firm can produce
with 5 units of L and 2 units of K. What is the maximum possible

output the firm can produce with zero (0) units of L and 10 units
of K? 3
G AV BLAM SCoiws (reql Stz Q = 2L2K2 |

5 UFF L @R 2 G55 K99 AR 2Rt AR F© G55 U S

FACS A2 X (0) G55 L @R 10 &5 K-97 A= DB Fcios
TeAM O 30 ?

30T ECON (BENG) [9] Contd.
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16.

PART-B / <-S[ta

(@) What is the relation between MPC and MPS? 18

MPC @33 MPS-93 S(&) 9% (0 @l |

(b)) What is investment ? { 1
- s e
(0 What do you mean by “velocity of circulation” of money ? il

TUE ‘2bei SIfor@a e T @R

(d) Who is known as the ‘lender of last resort’ ? 1

‘oI /S TG TS TECS B QIR 2 2

()  What is government budget ? | 1
I ACHT 12
()  In which year GST came into effect in India ? 1

Siaedrd @i AE (A GST R T AR?

Define intermediate good ? How intermediate goods are different from

capital goods ? 1+1=2

SRS T G Il | TURe! TS JEE T (AT IOl 252

30T ECON (BENG) [10]

17. What is investment multiplier ? If Rs. 200 crore increase in investment
increases income by Rs. 800 crore, then what will be the value of investment
multiplier ? 1l =
it wes e 7w 200 I S R s =iw 800 @i G g =
ol RS @ 9 F9 2@ [6T FE |

18. Write the differences between ex-ante investment and ex-post investment.

2
sepfe RN ik eFe RNGETeR S0« @l

19. Mention two points of superiority of Selective Credit Measures over
Quantitative Credit Control Measures. 0l
sAfIee et FEe siwhod (A Wb 2o Fagd owien 7o e T
B S | ' ;

20. Write two differences between revenue expenditure and capital expenditure.

2
ASE T G L VS W 7/6 AL =T |

21. What do you mean by devaluation of currency ? How does it affect the
import of a country ? ' 1+1=2
YUR SRR JE0O Bl @RI 2 YA SEETRE G906 @R Sl AR
FIOIE AR A 2

30T ECON (BENG) [11] Contd.



72.  Define GDP. Can GDP be used as an index of welfare of a country ? Justify
_your answer. 1+3=4
GDP-4d 3@ 1A | GDP-CF @30 (07 Fepieetsl Iphehee IR ol i 51 2
(ONliE TeEE FATE IS (TS |

23. How does the central bank use its quaﬁtitative credit control measures to
control inflationary situation of an economy ? 4
a¢%@mﬁﬁaqmﬁﬁl%mﬁﬁﬁmma@m(ﬁfﬁamsﬁ%mm—wqﬁmmm
ol Fleld JRE FICI?

OR / 5124t
Write a note on ‘demonetisation’”. 4
“RmRee -qq A 90 BRel et |
24, What is a Deficit Budget ? Why a deficit budget is considered beneficial
than a surplus budget for a developing economy 7 1+3=4
5 MET )2 SHETIE ETfen (R el ACHCE (AT TGS G
@ oz feaa Reseat S =

25.  Mention four differences between Direct taxes and Indirect taxes. 4

oo T % PG FER W bR AL (@
26. (i) What is balance of payment ? - 1
AfRTHITEE el 12
(i) What are the fwo main components of balance of payment ? i
AARTAICER AR 3 GAM 775 T e
(iii) Write fwo differences between balance of payment and balance of
trade. 2
SfreTCeE Tt @32 AAETA e ey gf5 Sy el
30T ECON (BENG) [12]

OR / 9241

Write briefly about : -

(i) Open Economy

(i) Exchange Rate.

ALCFCA Tl 8
() I& Lo
(i) TR a9

2+2=4

27. Explain the procedures of calculating National Income by value-added

method.

o RN e Bl SR S Sl T Al i e |

OR / @241

From the data given below calculate :

() GDP at factor cost
(i) GNP at market price

(i11)) NNP at factor cost

(a)
(b)
(c)
(d)
(e)
0
)
(h)
(i)

Consumption Expenditure
Investmént Expenditure
Government Expenditure
Export

Import

Net factor income from abroad
Indirect taxes
Subsidies

Depreciation

30T ECON (BENG) ' [13]

Rs. 2,000 crores
Rs. 1,200 crores
Rs. 450 crores
Rs. 80 crores
Rs. 95 crores
Rs. 60 crores
Rs. 90 crores
Rs. 80 crores

Rs. 30 crores

6
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SIod O (AT ¢

(1) AW TR G5/ IR SAM (GDPrc)

(i) AGE M (N5/Ze TS BeAW (GNPyp)

(iii) AW A FYS/AFS TSR Bt (NNPgc) Slodi T |

(@)
(b)
©
(d)

(e)

(g)
(h)

@)

THcelsl A

st "

g

St

ot At W6 St ey

AT 4

| \CHICIES

S

o
o

o
o

o0

00

00

00

00

2,060 IS it

1,200
456
80

95

60
90
80

30

33

3

3

2

3

2

33

33

LE)

»

2

28. Explain the process of equilibrium income determination of an economy

with the use of aggregate demand and aggregate supply curves.

6

AIERE @9 G=R AIER Bifen @2iE ARy G SIeEiion SR SiE HdRe
i oa-s=2 i S|

30T ECON (BENG) [14]

OR / §%41

What is aggregate demand ? Discuss the components of aggregate demand.

Afee vifewt 12 ANET bifznia SoAvHsE SiEea @i |

30T ECON (BENG)
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1+5=6



